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COMBINED ENGINEERING SUBORDINATE SERVICES 
(18/09/2021) 

 

1. ______ was an important source of subsistence of the Harappans. 
a. Fishing  b. Agriculture c. Pottery d. Craft production 
e. Answer not known 
`ug;gh kf;fSf;F Kf;fpakhd tho;thjhu topKiwahf _________ 
,Ue;jJ. 
a. kPd; gpbj;jy;    b. Ntshz;ik  
c. kl;ghz;lk; nra;jy;   d. iftpidj; njhopy;fs; 
e.  tpil njhpatpy;iy 
 

2. Which of the below bounds Nagaland on the east? 
a. Assam  b. West Bengal c. Myanmar d. Manipur  
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;sitfspy; ehfhyhe;Jf;F cs;s fpof;F vy;iy vJ? 
a. mrhk;  b. Nkw;F tq;fhsk; c. kpahd;kh;  d. kzpg;g+h; 
e.  tpil njhpatpy;iy 
 

3. Assertion (A): Periyapuranam was written by Sekkizhar during the reign 
of Cholas.  Seevakasindhamani and Kambaramayanam were also written 
during the reign of Cholas. 
Reason (R): Tamil literature flourished during Cholas period. 
Considering (A) and (R), choose the correct answer: 
a. (A) is true, (R) is false. 
b. (A) is false, (R) is true.  
c. Both (A) and (R) are true and (R) is the correct explanation of (A) 
d. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
e. Answer not known 
fPo;fz;l $w;Wfspy; rhpahdit vit? 
$w;W (A) : nghpaGuhzk; Nrf;fpohuhy; vOjg;gl;lJ.  NkYk; rPtfrpe;jhkzp> 

fk;guhkhazk; Mfpait Nrhoh; fhyj;jpy; gilf;fg;gl;ld. 
fhuzk; (R) : Nrhoh; fhyk; ,yf;fpa tsh;r;rpf;F Gj;Jzh;T je;jJ. 
rupahd tpilasp: 
a. (A) rhp> Mdhy; (R) jtW. 
b. (A) jtW Mdhy; (R) rhp.  
c. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fk;. 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fky;y. 
e.  tpil njhpatpy;iy 
 
 

4. Which River is known as the “River of Death” in Eastern Ladakh? 
a. Damodar river    b. Tapti river 
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c. Indus river    d. Shyok river 
e. Answer not known 
fpof;F ylhf;fpy; “,we;j MW” vd;W miof;fg;gLk; ejp vJ? 
a. jhNkhjh; ejp    b. jg;jp ejp 
c. rpe;J ejp    d. rpNahf; ejp 
e.  tpil njhpatpy;iy 
 

5. In the First battle of Tarain in 1191 A.D. Prithviraj Chauhan, the ruler of 
Ajmer 
a. defeated Muhammed Ghori 
b. was defeated by Muhammed Ghori 
c. first battle of Tarain was  not fought in 1191 A.D. 
d. none of these 
e. Answer not known 
fp.gp. 1191 Kjy; jiud; Nghhpy; M[;kPh; murh; gphpj;tpuh[; nrsfhd;  
a. KfkJ Nfhhpia Njhw;fbj;jhh; 
b. KfkJ Nfhhp ntw;wp ngw;whh; 
c. Kjy; jiud; Nghh; fp.gp. 1191 -y; eilngwtpy;iy 
d. ,it midj;Jk; ,y;iy 
e. tpil njhpatpy;iy 
 

6. Assertion (A): The arid soil is dry due to prevalence of the dry climate, 
high temperature and accelerated evaporation. 
Reason (R)    : This is also dry due to lacks of humus content became of 
absence of vegetative cover 
a. (A) is false, (R) is true. 
b. (A) is true, (R) is false. 
c. Both (A) and (R) are true and (R) is the correct explanation of (A) 
d. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A)  : twz;l ghiy kz; twz;l fhy epiy> mjpf ntg;gk; 

fhuzkhf Mtpahjy; mjpfkhf ,Ug;gjhy; Nky; kz; 
twz;L fhzg;gLfpwJ. 

fhuzk;(R)  :  NkYk; ,it twz;L fhzg;gLtjw;F fhuzk; jhtuq;fs; 
,y;yhikahy; ,iy kl;Fr; rj;J Fiwthff; 
fhzg;gLfpwJ. 

a. $w;W (A) jtW> fhuzk; (R) rhp. 
b. $w;W (A) rhp> fhuzk; (R) jtW. 
c. $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhp> fhuzk; (R) $w;Wf;fhd (A) 

rhpahd tpsf;fkhFk;. 
d. $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhp> fhuzk; (R) $w;Wf;fhd 

(A) rhpahd tpsffk; my;y. 
e.  tpil njhpatpy;iy 
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7. Name the states where the Bhamini government spread over 
a. Maharashtra and Karnataka 
b. Maharashtra and Gujarat 
c. Maharashtra and Telangana 
d. Maharashtra and Madhya Pradesh 
e. Answer not known 
ghkpdp muR fPo;f;fz;l ve;j khepyq;fspy; gutp ,Ue;jJ. 
a. kfhuh~;buh kw;Wk; fh;ehlfh 
b. kfhuh~;buh kw;Wk; F[uhj; 
c. kfhuh~;buh kw;Wk; njYq;fhdh 
d. kfhuh~;buh kw;Wk; kj;jpa gpuNjrk; 
e. tpil njhpatpy;iy 

 
 
 

8. Choose the wrong sentence: 
a. An Earthquake is sudden, rapid shaking of the surface of the earth. 
b. Earthquakes strike suddenly without warning and can occur at any 

time 
c. The impacts of the earthquakes include deaths, injuries and damage of 

property 
d. Use an electric lift if inside the building during on earthquake. 
e. Answer not known 
jtwhd thf;fpak; njhpT nra;: 
a. epyeLf;fk; vd;gJ Gtpg;gug;gpy; Vw;gLk; mjPj Gtpajph;it Fwpf;Fk;. 
b. epyeLf;fkhdJ vt;tpj Kd;dwptpg;Gkpd;wp jpBnud;W ve;j Neuj;jpy; 

Ntz;LkhdhYk; Vw;glyhk;. 
c. epyeLf;fj;jpd; NghJ nghUl; Nrjk;> fhaq;fs; kw;Wk; caphpog;G 

Nghd;wit Vw;gLk;. 
d. epyeLf;fj;jpd; NghJ fl;blj;jpd; cs;Ns ,Ue;jhy; kpd;J}f;fpfis 

gad;gLj;jpf;nfhs;s Ntz;Lk; 
e.  tpil njhpatpy;iy 

 
9. Under which system the ownership of the land was maintained by the 

collective body usually the villagers? 
a. Zamindari system  b. Mahalwari system 
c. Ryotwari system  d. Land Tenure 
e. Answer not known 
gpd;tUk; Kiwfspy; ve;j Kiw fpuhk kf;fshyhd FOtpdh; epyr; 
nrhe;jf;fhuh;fshf ,Ue;J eph;thfk; nra;jdh;? 
a. [kPd;jhhyp Kiw  b. k`y;thhp Kiw 
c. ,uaj;Jthhp Kiw  d. epy cilik Kiw 
e. tpil njhpatpy;iy 
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10. Assertion (A) : A galaxy is a system of billions of stars, stellar remnants, 
inter steller gas, dust and dark matter. 
Reason (R) : The Milky way is the galaxy that contains our solar system. 
a. (A) is true, (R) is false. 
b. Both (A) and (R) are true and (R) is the correct explanation to (A) 
c. (A) is false, (R) is true.  
d. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A)  : Xh; mz;lk; gpy;ypad; fzf;fhd el;rj;jpuq;fs;> el;rj;jpu 

vr;rq;fs;> el;rj;jpu thAf;fs;> J}R kw;Wk; Gyg;glhj 
nghUl;fis cs;slf;fpAs;sJ. 

fhuzk;(R) : ghy; top mz;lk; vd;gJ ek; #hpa FLk;gk; mike;Js;s xU 
mz;lkhFk;. 

a. (A) rhp> Mdhy; (R) jtW.  
b. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fk;. 
c. (A) jtW Mdhy; (R) rhp.  
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fky;y. 
e.  tpil njhpatpy;iy 
 

11. Which of the following emerged as the hot bed of militant nationalism 
during the Swadeshi movement? 
(1) Punjab  (2) Bengal   (3) Maharashtra  (4) Tuticorin 
a. 1 alone correct   b. 1 and 4 are correct 
c. 2 alone correct   d. 1, 2, 3, 4 are correct 
e. Answer not known 
fPo;fz;ltw;Ws; vJ/vit RNjrp ,af;fj;jpd; NghJ jPtpu Njrpathjj;jpd; 
,aq;F jskhf cUntLj;jd? 
(1) gQ;rhg;  (2)tq;fhsk;  (3) kfhuh~;buk; (4) J}j;Jf;Fb 
a. 1 kl;Lk; rhp   b. 1 kw;Wk; 4 kl;Lk; rhp 
c. 2 kl;Lk; rhp   d. midj;Jk; rhpahdJ 
e. tpil njhpatpy;iy 
 

12. Assertion (A) : Intensive Agriculture pattern, farmers prefer the 
cultivation of short duration crops.  
Reason (R) : Generally it is practiced wherein the size of the agricultural 
land holding is small. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
a. (A) is true, (R) is false. 
b. (R) is true, (A) is false. 
e. Answer not known 
$w;W (A): jPtpu tptrha Kiwapy; FWfpa fhy gaph;fs; gaphplg;gLfpd;wd. 
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fhuzk; (R): tpisepyk; Fisthf cs;s gFjpfspy; ,k;Kiw 
gpd;gw;wg;gLfpwJ. 

a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A)-tpw;F rhpahd 
tpsf;fk;. 

b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd 
tpsf;fky;y. 

c. (A) rhp> Mdhy; (R) jtW. 
d. (R) rhp Mdhy; (A) jtW.  
e.  tpil njhpatpy;iy 
 

13. Assertion (A) : Jawaharlal Nehru’s regime is the golden period for the 
development of modern science 
Reason     (R) : Atomic research and space research were started during 
his regimen considering (A) and (R), choose the correct answer. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
a. (A) is true, (R) is false. 
b. (A) is false, (R) is true.  
e. Answer not known 
fPo;fz;l $w;Wfspy; rhpahdit vit? 
$w;W  (A)  : NeU Ml;rpf;fhyk; etPd mwptpay; tsh;r;rpapd; nghw;fhyk; 

MFk;. 
fhuzk; (R) : mZ Muha;r;rpfs;> tpz;ntsp Muha;r;rpfs; Nghd;wit 

,tuhNy cUthf;fg;gl;lit. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fky;y. 
c. (A) rhp> Mdhy; (R) jtW. 
d. (A) jtW Mdhy; (R) rhp.  
e.  tpil njhpatpy;iy 
 

14. Deals with the distribution of human communities on the earth in relation 
to their geographical environment 
a. Anthropo Geography  b. Social Geography 
c. Bio Geography    d. Political Geography 
e. Answer not known 
kdpj r%fq;fspd; gutYk; mr;rKfq;fspd; Gtpapay; #oYk; Fwpj;j xU 
gbg;G 
a. khdpltpay; Gtpapay;  b. r%fg; Gtpapay; 
c. caph; Gtpapay;    d. murpay; Gtpapay; 
e.  tpil njhpatpy;iy 
 

15. Who was announced August offer in 1940? 
a. Lord Linlithgow   b. Lord Wavel 
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c. Lord Mountbatten   d. Minto 
e. Answer not known 
1940 y; Mf];l; nfhilia mwptpj;jth; ahh;? 
a. ypd;ypj;Nfh gpuG   b. Ntty; gpuG 
c. kTz;l;Ngl;ld; gpuG   d. kpz;Nlh 
e.  tpil njhpatpy;iy 
 

16. A man repays a loan of Rs. 65,000 by paying Rs. 400 in the first month and 
then increasing the payment by Rs. 300 every month.  How long will it 
take for him to clear the loan? 
a. 20 months b. 22 months c. 25 months d. 30 months 
e. Answer not known 
xUth; jhd; ngw;w Rs. 65,000 flid jpUg;gpr; nrYj;j Kjy; khjk;    Rs. 
400 nrYj;Jfpwhh;.  mjd; gpwF xt;nthU khjKk; Ke;ija khjk; 
nrYj;jpaij tpl Rs. 300 $Ljyhfr; nrYj;Jfpwhh;.  mth; me;jf; flid 
milf;f vt;tsT fhyk; Njitg;gLk;? 
a. 20 khjq;fs; b. 22 khjq;fs; c. 25 khjq;fs; d. 30 khjq;fs; 
e.  tpil njhpatpy;iy 
 

17. The arithmetic mean of 6 values is 45 and if each value is increased by 4.  
Then find the arithmetic mean of new set of values. 
a. 45  b. 49  c. 56  d. 62  e. Answer not known 
juTfspd; ruhrhp 45> xt;nthU juTld; 4 -If; $l;bdhy; fpilf;Fk; 
ruhrhpiaf; fhz;f. 
a. 45  b. 49  c. 56  d. 62  e.  tpil njhpatpy;iy 

 
18. How many terms of the series 1 + 5 + 9 + … must be taken so that their 

sum is 190? 
a. 7  b. 8  c. 9  d. 10  e. Answer not known 
1 + 5 + 9 + ….. vd;w njhlhpy; vj;jid cWg;Gfisf; $l;bdhy; $Ljy; 
190 fpilf;Fk;. 
a. 7  b. 8  c. 9  d. 10  e.  tpil njhpatpy;iy 
 

19. A total of 324 coins of 20 paise and 25 paise makes a sum of Rs. 71.  The 
number of 25 paise coins is 
a. 120   b. 124  c. 144   d. 200 
e. Answer not known 
324 ehzaq;fspy; 20 igrh kw;Wk; 25 igrh nfhz;l ehzaq;fspd; nkhj;j 
kjpg;G &. 71 vdpy;> 25 igrh ehzaq;fspd; vz;zpf;if fhz;f. 
a. 120   b. 124   c. 144   d. 200 
e.  tpil njhpatpy;iy 
 

20. If we multiply a fraction by itself and divide the product by its reciprocal, 

the fraction thus obtained is   

26
18

27 .   The original fraction is  
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a. 

8

27  b. 

1
1

3   c. 

2
2

3   d. 

1
3

3   e. Answer not 
known 
xU gpd;dj;ij mNj gpd;dj;jhy; ngUf;fp> mjd; ngUf;Fj; njhifia 

mg;gpd;dj;jpd; jiyfPopahy; tFf;ff; fpilf;ff; $ba gpd;dk; 

26
18

27 vdpy; 
mg;gpd;dj;ijf; fhz;f. 

a. 

8

27  b. 

1
1

3   c. 

2
2

3   d. 

1
3

3   e.  tpil njhpatpy;iy 
 

21. Average rain in temperate forest is  
a. 850 mm – 2000 mm  b. 850 mm – 2600 mm 
c. 750 mm – 1500 mm  d. 250 mm – 750 mm 
e. Answer not known 
kpj ntg;g kz;lyf; fhLfspd; ruhrhp kiog;nghopT vd;gJ 
a. 850 mm – 2000 mm  b. 850 mm – 2600 mm 
c. 750 mm – 1500 mm  d. 250 mm – 750 mm 
e.  tpil njhpatpy;iy 
 

22. On 29th March 1857, who was hanged? 
a. Bahadur Shah   b. Tantia Tope 
c. Jansi Rani   d. Mangal Pande 

e. Answer not known 
29 khh;r; 1857- y; ahh; J}f;fpyplg;gl;lhh;? 
a. gfH}h; ~h   b. jhe;jpah Njhg; 
c. [hd;rp uhzp   d. kq;fs; ghz;Nl 
e.  tpil njhpatpy;iy 
 
 

23. The Technology used for stopping the brain from processing pain is 
a. Precision medicine    b. Wireless brain sensor 
c. Virtual reality    d. Radiology 
e. Answer not known 
%isahdJ typiar; nrayhf;Ftij epWj;jg; gad;gLj;jg;gLk; 
njhopy;El;gk; 
a. Jy;ypa kUj;Jtk;   b. fk;gpapy;yh %is czh;tp 
c. nka;epfh; cz;ik   d. fjphpaf;ftpay; 
e.  tpil njhpatpy;iy 
 

24. The reformation in England was started not by the theologians, but by the 
king 
a. Louie XIV b. Henry VIII c. Louie XVI d. Louie XV 
e. Answer not known 
,q;fpyhe;jpy; rPh;jpUj;j eltbf;iffs; jj;Jt mwpQh;fshy; 
njhlq;fg;glhky; kd;duhNyNa njhlq;fg;gl;lJ mth; ahh;? 
a. 14-k; Y}ap b. 8-k; n`d;wp c. 16-k; Y}ap d. 15-k; Y}ap 
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e.  tpil njhpatpy;iy 
 

25. National Statistical Commission NSC was set up in 
a. 2001   b. 2006  c. 2005  d. 2008 
e. Answer not known 
Njrpa Gs;spay; Jiw NSC mikf;fg;gl;l Mz;L 
a. 2001   b. 2006  c. 2005  d. 2008 
e.  tpil njhpatpy;iy 
 

26. Who said “ Better bullock carts and freedom than a train deluxe with 
subjections”? 
a. Annie Besant   b. M. Veeraraghavachari 
c. G.S. Arundale   d. B.P. Wadia 
e. Answer not known 
“mjpetPd trjpfSld; $ba uapypy; mbikfshf ,Ug;gijtpl 
Rje;jpuj;Jld; $ba khl;L tz;bNa rpwe;jJ” vdf; $wpath; ahh;? 
a. md;dpngrd;l;   b. M. tPuuhfthr;rhhp 
c. G.S. mUz;Nly;  d. B.P. thbah 
e.  tpil njhpatpy;iy 
 

27. Name a clinical trial in which blood is transfused from recovered COVID-
19 patients to a Corona virus patient who is in critical condition 
a. Plasma Therapy   b. Solidarity 
c. Remdesivir    d. Hydroxychloroquine 
e. Answer not known 
kPl;fg;gl;l Nfhtpl;-19 NehahspfsplkpUe;J Mgj;jhd epiyapy; cs;s xU 
nfhNuhdh itu]; Nehahspf;F ,uj;j ghpkhw;wk; nra;a gad;gLj;jg;gLk; 
ghpNrhjidapd; ngah; 
a. gpsh];kh-njugp   b. rhyplhhpl;b 
c. nuk;B]ptph;     d. i`l;uhf;rp FNshNuhFapd; 
e.  tpil njhpatpy;iy 
 

28. From the following statements state which, statements are correct or 
incorrect 
Statement I : The Dandi March was to cover 395 kms from Gandhi’s 

Sabarmati Ashram to Dandi on the Gujarat Coast 
Statement II : Gandhi set out on the March and Reached Dandi on the 25th 

day (i.e) 6 April 1930 
a. Statement I and II are incorrect 
b. Statement I is correct but II is incorrect 
c. Both statement I and II are correct 
d. Statement I is incorrect, but II is correct 
e. Answer not known 
fPo;f;fz;l $w;Wfspy; vJ rhp> vJ jtW vd Fwpg;gplTk; 
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$w;W I : fhe;jpabfspd; rgh;kjp Mrpukj;jpy; ,Ue;J F[uhj; 
flw;fiuNahuk; cs;s jz;b tiu 395 fpNyh kPl;lh; 
njhiyTf;F jz;bahj;jpiu eilngw ,Ue;jJ 

$w;W  II  : fhe;jpabfs; ahj;jpiuahf ele;J jz;bia 25tJ ehspy;      
mjhtJ 1930 Vg;uy; 6 ,y; nrd;W mile;jhh; 

a. $w;W I $w;W II jtW 
b. $w;W I rhp Mdhy; $w;W II jtW 
c. $w;W I rhp $w;W II rhp 
d. $w;W I jtW Mdhy; $w;W II rhp 
e.  tpil njhpatpy;iy 
 

29. The ministry of Jal Shakthi of Government of India recently Tamil Nadu 
was awarded (2019) place in 
a. 3rd Place  b. 2nd Place  c. 1st Place  d. 10th Place 
e. Answer not known 
,e;jpahtpd; [y; rf;jp mikr;rfj;jhy; jkpo;ehl;Lf;F fpilj;j tpUJ (2019) 
a. 3tJ ,lk; b. 2tJ ,lk; c. 1tJ ,lk;  d. 10tJ ,lk; 
e.  tpil njhpatpy;iy 
 

30. Which of the following statement, Lokmanya Tilak, wrote in his papers 
Kesari and Mahratta, are true? 
a. The victory of the coral mill workers 
b. The victory of the Dandi salt sathyagraha  
c. The victory of the vedaranyam salt sathyagraha 
d. The success of the Swadeshi Navigation company 
e. Answer not known 
Nyhfkhd;a jpyfh; jd;Dila Nfrhp> kuhl;lh gj;jphpiffspy; vOjpa 
$w;Wfspy; fPo;fz;ltw;wpy; vJ cz;ikahdJ? 
a. Nfhuy;kpy; njhopyhsh;fspd; ntw;wp 
b. jz;b cg;G rj;ahfpufj;jpd; ntw;wp 
c. Ntjhuz;ak; cg;G rj;jpahfpufj;jpd; ntw;wp 
d. t.c.rp.apd; RNjrp fg;gy; epWtdj;jpd; ntw;wp 
e.  tpil njhpatpy;iy 
 

31. World differently abled persons day is celebrated on 
a. December 3 b. November 3 c. October 3 d. August 3 
e. Answer not known 
cyf khw;Wjpwdhspfs; jpdkhf nfhz;lhlg;gLk; ehs; 
a. brk;gh; 3  b. etk;gh; 3 c. mf;Nlhgh; 3 d. Mf];l; 3 
e.  tpil njhpatpy;iy 
 

32. ‘NITI Aayog’ substituted Planning Commission was effect from 
a. January 1, 2015   b. February 2, 2015 
c. January 5, 2018    d. March 15, 2015 
e. Answer not known 
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jpl;lf;FOtpw;F khw;whf ‘epjp MNahf;’ eilKiwf;F te;jJ 
a. [dthp 1> 2015   b. gpg;uthp 2> 2015 
c. [dthp 5> 2018    d. khh;r; 15> 2015 
e.  tpil njhpatpy;iy 
 
 

33. Chennai Metro Rail project phase I was fully operated on 
a. 10.2.2020  b. 10.2.2019  c. 10.2.2021  d. 10.2.2018 
e. Answer not known 
nrd;id nkl;Nuh nuapy; jpl;lk; Kjy; fl;lk; KOikahf nray;gl;l Mz;L 
a. 10.2.2020  b. 10.2.2019  c. 10.2.2021  d. 10.2.2018 
e.  tpil njhpatpy;iy 
 

34. Integrated rural development programme was introduced on 
a. 1990  b. 1992  c. 1982  d. 1980 

e. Answer not known 
‘xUq;fpize;j Cuf tsh;r;rpj; jpl;lk;’ mwpKfk; nra;ag;gl;l Mz;L 
a. 1990  b. 1992  c. 1982  d. 1980 
e.  tpil njhpatpy;iy 
 
 

35. Which country conferred its highest civilian award to our Prime Minister 
on 4th June 2016? 
a. China     b. Russia  
c. Afghanistan    d. United States of America 
e. Answer not known 
4 [_d; 2016 Mk; Mz;by; ve;j ehL me;ehl;bd; cahpa tpUjhd 
‘rptpypad;’ tpUij ek; gpujkUf;F toq;fpaJ? 
a. rPdh     b. u~;ah  
c. Mg;fhdp];jhd;    d. mnkhpf;f If;fpa ehLfs; 
e.  tpil njhpatpy;iy 
 

36. What sum of money will earn Rs. 500 as simple interest in 1 year at 5% per 
annum? 
a. 50,000  b. 30,000  c. 10,000  d. 5,000 
e. Answer not known 
Mz;bw;F 5% tl;b tPjj;jpy; Xh; Mz;bw;F  &. 500 Ij; jdptl;bahfj; 
jUk; mry; vt;tsT? 
a. 50,000  b. 30,000  c. 10,000  d. 5,000 
e.  tpil njhpatpy;iy 
 

37. A person decides to create a fund to be invested at 10% per annum to 
provide for prize of Rs. 500 every year.  The initial investment is 
a. Rs. 4,000  b. Rs. 5,000  c. Rs. 6,000  d. Rs. 5,500 
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e. Answer not known 
xU egh; xt;nthU Mz;Lk; &. 500 ghpR toq;Ftjw;fhf Mz;Lf;F 10% 
vd;w Kiwapy; KjyPL nra;a xU epjpia cUthf;f KbT nra;fpwhh; 
vdpy; Muk;g KjyPL fhz;f. 
a. &. 4>000  b. &. 5000  c. &. 6>000  d. &. 5>500 
e.  tpil njhpatpy;iy 
 

38. If the cost of a dozen soaps is Rs. 396, What will be cost of 35 such soaps? 
a. 1515 b. 5511 c. 1155 d. 5115 e. Answer not known 
xU lrd; Nrhg;Gfspd; tpiy &. 396 vdpy; 35 Nrhg;Gfspd; tpiy vd;d? 
a. 1515 b. 5511 c. 1155 d. 5115 e.  tpil njhpatpy;iy 
 

39. 4 typists are employed to complete a work in 12 days.  If two more typists 
are added they will finish the same work in _______ days. 
a. 7  b. 8  c. 9  d. 10  e. Answer not known 
4 jl;lr;rh;fs; xU Ntiyia Kbf;f 12 ehs;fs; vLj;Jf;nfhs;fpd;wdh;.  
NkYk; 2 jl;lr;rh;fs; $Ljyhfr; Nrh;e;jhy;> mNj Ntiyia _______ 
ehs;fspy; nra;J Kbg;gh;. 
a. 7  b. 8  c. 9  d. 10  e.  tpil njhpatpy;iy 
 

40. If 5 persons can do 5 jobs in 5 days then 50 persons cab do 50 jobs in _____ 
days. 
a. 5  b. 25  c. 50   d. 55  e. Answer not known 
egh;fs; 5 Ntiyfis 5 ehs;fspy; nra;J Kbg;gh; vdpy; 50 egh;fs; 50 
Ntiyfis _________ ehs;fspy; nra;J Kbg;gh; 
a. 5  b. 25  c. 50   d. 55  e.  tpil njhpatpy;iy 
 

41. What does ‘BIMARU’ implies? 
a. States with the lowest birth rates 
b. States with the Highest mortality rates 
c. The most populous states 
d. The least populous states 
e. Answer not known 
‘BIMARU’ vd;gJ vij Fwpf;fpwJ? 
a. Fiwe;j gpwg;G tpfpjj;ij nfhz;l khepyq;fs; 
b. mjpf ,wg;G tpfpjj;ij nfhz;l khepyq;fs; 
c. mjpf kf;fs; njhif nfhz;l khepyq;fs; 
d. Fiwe;j kf;fs; njhif nfhz;l khepyq;fs; 
e.  tpil njhpatpy;iy 
 
 

42. Who was the winner in grand slam (Tennis) singles match in 2020? 
a. Sania Mirza    b. Ramkumar  
c. Magesh Bhupathi   d. Smit Nagal 
e. Answer not known 
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fpuhz;l; ];yhk; (grand slam) nld;dp]; xw;iwah; gphptpy; 2020y; ntw;wp 
ngw;w (2020) ,e;jpah; ahh;? 
a. rhdpa kph;rh    b. uhk;Fkhh;   
c. kNf~; g+gjp    d. Rkpj; efy; 
e.  tpil njhpatpy;iy 
 

43. Assertion (A) : The seventh five year plan was successful  
Reason  (R)    : For the first time, due to the pressure from private sector, 

the private sector got the priority over public sector. 
a. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
b. Both (A) and (R) are true but (R) is the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
e. Answer not known 
$w;W (A)  : VohtJ Ie;jhz;L jpl;lk; ntw;wp ngw;wJ. 
fhuzk; (R) : Kjd;Kiwahf nghJJiwf;F Nkyhf jdpahh; Jiwf;F 
Kd;Dhpik toq;fg;gl;lJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fky;y. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fk;. 
c. (A) rhp> Mdhy; (R) jtW. 
d. (A) jtW Mdhy; (R) rhp.  
e.  tpil njhpatpy;iy 
 

44. Name the application recommended by the Central Pollution Board of 
India to know about the “quality of air” 
a. Sameer  b. Umang  c. Diksha  d. Aarogya setu 
e. Answer not known 
fhw;wpd; juj;ijf; fz;lwpa kj;jpa khRf;fl;Lg;ghl;L thhpaj;jhy; 
ntspaplg;gl;Ls;s nrayp 
a. rkPh;  b. ckhq;  c. jPf;~h  d. MNuhf;fpa Nrl;L 
e.  tpil njhpatpy;iy 
 

45. Match List I with List II: 
List I    List II 
a. First World War  1. High Yielding varieties 
b. New Industrial policy 2. 1960 
c. Green revolution  3. 1991 
d. HYV    4. 1914 

  A B C D 
 a. 4 3 2 1  
 b. 2 1 4 3  
 c. 4 3 1 2  
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 d. 2 3 4 1  
e. Answer not known 
gl;bay; I cs;stw;iw gl;bay; IIy; nghUj;Jf. 
 gl;bay; - I   gl;bay; - II 
a. Kjy; cyfg; Nghh;  1. mjpf tpisr;riy juf;$ba tpij 
b. Gjpa njhopw; nfhs;is 2. 1960 
c. gRikg;Gul;rp   3. 1991 
d. HYV    4. 1914 

  A B C D 
 a. 4 3 2 1  
 b. 2 1 4 3  
 c. 4 3 1 2  
 d. 2 3 4 1  

e.  tpil njhpatpy;iy 
 

46. What is the name of “half-humanoid” (robotic) astronaut, which will be 
on board the Gaganyaan? 
a. Skybot  b. Vyomitra c. Sophia  d. Astrobee 
e. Answer not known 
ffd;ahd; jpl;lj;jpd; fPo; tpz;ntspf;F nrYj;jg;gLk; “miu kdpj cUt” 
(NuhNgh) 
a. ];ifNghl;  b. tNahkpj;uh c. Nrhgpah  d. m~;l;Nuhgp 
e.  tpil njhpatpy;iy 
 

47. Consider the following statement 
Assertion (A) : Chennai is nick named as “The Detroit of Asia” is home to 

a large number of Auto components Industries. 
Reason (R)     : Tamil Nadu has 28% share each in automotive and auto 

components industries 19% in truck segment and 18% 
passenger cars and two wheelers 

a. Both (A) and (R) are true and (R) is the right explanation to (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
a. (A) is true, (R) is false. 
b. (A) is false, (R) is true.  
e. Answer not known 
fPo;fz;l thf;fpaq;fis fUj;jpy; nfhs;f 
$w;W (A)  : Mrpahtpy; nul;uha;l; vd;wiof;fg;gLk; nrd;id kpfg;nghpa 

mstpyhd thfd cjphpghfq;fs; jahhpg;Gf;fhd ,lkhf 
tpsq;FfpwJ. 

fhuzk;(R) : jkpo;ehL ,e;jpa mstpy; thfd kw;Wk; thfd cjphpghfq;fs; 
cw;gj;jpapy; 28% Kk; yhhpf;fhd cw;gj;jpapy; 19% Kk; 
gazpah; fhh; kw;Wk; ,Urf;fu thfd cw;gj;jpapy; 18% 
nfhz;Ls;sJ. 

a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (A) f;fhd rhpahd tpsf;fk; (R). 



 

14 | P a g e  
 

b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (A) f;fhd rhpahd tpsf;fk; (R) 
,y;iy. 

c. (A) rhp> Mdhy; (R) jtW. 
d. (A) jtW Mdhy; (R) rhp.  
e.  tpil njhpatpy;iy 
 

48. All of the following statements are correct except 
a. World’s largest highway tunnel is located in India 
b. The tunnel is located at an altitude of about 5000 meters above sea 

level 
c. All the cool temperatures to travel and to establish the tunnels length 

9.02km 
d. It is built by the Border Road Organisation (BRO) 
e. Answer not known 
gpd;tUk; thf;fpaq;fspy; kw;w vy;yhk; rhpahdit xd;iwj; jtpu 
a. cyfpd; kpf ePskhd neLQrhiy Ruq;fg;ghij ,e;jpahtpy; 
mike;Js;sJ. 

b. fly; kl;lj;jpypUe;J 5000 kPl;lh; cauj;jpy; cs;sJ. 
c. midj;J jl;gntg;g epiyfspYk; gazk; nra;Ak; Ruq;f ghijapd; 

ePsk; 9.02 fP.kP. tifapy; mikf;fg;gl;Ls;sJ. 
d. ,J vyiyg;Gwr; rhiy mikg;ghy; (BRO) cUthf;fg;gl;lJ. 
e.  tpil njhpatpy;iy 
 

49. “The Kisan Credit Card” scheme (KCC) was introduced in 
a. 1996 – 1997  b. 1998 – 1999  c. 1999 – 2000 
d. 2000 – 2001  e. Answer not known 
“cotd; fld; ml;il” (fp~hd; fpnubl; fhh;l;) Vw;gLj;jpa Mz;L 
a. 1996 – 1997  b. 1998 – 1999  c. 1999 – 2000 
d. 2000 – 2001  e.  tpil njhpatpy;iy 
 

50. Ramvilas Paswan – made Guiness Record for winning highest margin of 
votes in parliamentary election of which state? 
a. Bhagalpur  b. Buxar  c. Banka  d. Hajipur 

e. Answer not known 
uhk;tpyh]; gh];thd; fpd;d]; nuf;fhh;L nra;J ntw;wpaile;j njhFjpapd; 
ngah; 
a. gfy;g+h;  b. gf;rhh;  c. gq;fh  d. `hrpg;g+h; 
e.  tpil njhpatpy;iy 
 

51. Self Help group bank linked programme was started in 
a. 1990  b. 1992  c. 2010  d. 2016 
e. Answer not known 
Ra cjtpf; FOf;fs; tq;fp ,izg;Gj; jpl;lk; ________ y; 
Muk;gpf;fg;gl;lJ. 
a. 1990  b. 1992  c. 2010  d. 2016 



 

15 | P a g e  
 

e.  tpil njhpatpy;iy 
 

52. If a person moving from pole to equator, the centrifugal force acting on 
him 
a. Increases     b. Decreases 
c. Remains the same   d. Increase and then decrease  
e. Answer not known 
kdpjnuhUth; Gtpapd; JUtj;jpypUe;J> eLtiuf; Nfhl;Lg; gFjpia Nehf;fp 
tUfpwhh;.  mthpd; kPJ nray;gLk; ikatpyf;F tpir 
a. mjpfhpf;Fk;    b. FiwAk;   
c. khwhJ    d. Kjypy; mjpfhpj;J> gpd;G FiwAk; 
e. tpil njhpatpy;iy 
 

53. Assertion (A) : Ramachandra Guha calls Kumarappa as “Green 
Gandhian”. 
Reason (R) : Kumarappa was the founder of modern environmentalism in 
India. 
a. (A) is true, (R) is false. 
b. Both (A) and (R) are true and (R) is the correct explanation to (A) 
c. (A) is false, (R) is true.  
d. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A) : ,uhkr;re;jpu Ffh mth;fs; Fkug;ghit ‘gr;ir fhe;jp’ vd;W 

mioj;jhh;. 
fhuzk;(R): Fkug;gh ,e;jpahtpd; Rw;Wr; #oypay; Fwpj;J mbj;jskpl;lhh;. 
a. (A) rhp> Mdhy; (R) jtW.  
b. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fk;. 
c. (A) jtW Mdhy; (R) rhp.  
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fky;y. 
e.  tpil njhpatpy;iy 
 
 

54. If the Distance between earth and the sun were to be doubled, the number 
of days in a year would be 
a. 64.5  b. 1032  c. 182.5  d. 730 
e. Answer not known 
Gtpf;Fk; #hpaDf;Fk; ,ilNa cs;s njhiyT ,Uklq;fhdhy;> Xuhz;L 
vd;gJ vj;jid ehl;fs;? 
a. 64.5  b. 1032  c. 182.5  d. 730 
e.  tpil njhpatpy;iy 
 

55. Assertion (A) : The 42nd Constitution Amendment has been referred to as 
the ‘Mini Constitution’ 
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Reason (R) : It was the bulkiest and most comprehensive amendment. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
e. Answer not known 
$w;W (A) : 42tJ murpayikg;G jpUj;jr;rl;lk; xU FW mufpayikg;G 

vd;W Fwpg;gplg;gLfpwJ. 
fhuzk;(R): mjpfkhd tpjpfis nfhz;L xUq;fpizf;fg;gl;l 

jpUj;jr;rl;lk;. 
a. $w;W (A)k;; fhuzk; (R)k; rhpahditfs; MFk;> fhuzk; (R) $w;W 

(A)f;fhd rhpahd tpsf;fkhFk;. 
b. $w;W (A)k; fhuzk; (R)k; rhpahditfshFk;. Mdhy; fhuzk; (R) $w;W 

(A)f;fhd rhpahf tpsf;ftpy;iy. 
c. (A) $w;W rhp Mdhy; fhuzk; (R) jtW. 
d. (A) $w;W jtW Mdhy; fhuzk; (R) rhp 
e.  tpil njhpatpy;iy 
 
 

56. Find the HCF of 12(x4 – x3) and 8(x4 – 3x3 +2x2) whose LCM is 24x3 (x – 1) 
(x – 2) 
a. x – 1  b. 4x2  c. 4x2(x – 1)  d. x2 - x  
e. Answer not known 
12(x4 – x3),  8(x4 – 3x3 +2x2)d; kP.ngh.k 24x3 (x – 1) (x – 2) vdpy; kP.ngh.t 
fhz;f. 
a. x – 1  b. 4x2  c. 4x2(x – 1)  d. x2 - x  
e.  tpil njhpatpy;iy 
 

57. Find the GCD of 2x2 – 18 and x2 – 2x – 3 
a. (x – 3)  b. (x + 3)  c. (x + 1)  d. (x – 1) 
e. Answer not known 
2x2 – 18 kw;Wk; x2 – 2x – 3 d; kP.ngh.t. fhz;f. 
a. (x – 3)  b. (x + 3)  c. (x + 1)  d. (x – 1) 
e.  tpil njhpatpy;iy 
 

58. If x – 4 is the HCF of (x2 – x – 12) and (x2 – mx – 8) then the value of m is  
a. 0   b. 1   c. 2   d. 6 
e. Answer not known 
(x2 – x – 12) kw;Wk; (x2 – mx – 8) d; kP.ngh.t. x – 4 vdpy; m d; kjpg;G 
a. 0   b. 1   c. 2   d. 6 
e.  tpil njhpatpy;iy 
 

59. Find the LCM of the following 
x3 – 27, (x – 3)2, x2 – 9  
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a. (x – 3)(x + 3)(x2 + 3x + 9)  b. (x – 3)2 (x2 + 3x + 9)  
c. (x – 3)2(x + 3)(x2 + 3x + 9)  d. (x – 3)2(x + 3)(x2 - 3x + 9) 
e. Answer not known 
gpd;tUtdtw;wpw;F kP.ngh.k fhz;f 
x3 – 27, (x – 3)2, x2 – 9  
a. (x – 3)(x + 3)(x2 + 3x + 9)  b. (x – 3)2 (x2 + 3x + 9)  
c. (x – 3)2(x + 3)(x2 + 3x + 9)  d. (x – 3)2(x + 3)(x2 - 3x + 9) 
e.  tpil njhpatpy;iy 
 

60. 

1 2 3 4 5 6
999 999 999 999 999 999 is simplified to

7 7 7 7 7 7
+ + + + +

 
a. 2997  b. 5979  c. 5994  d. 5997 
e. Answer not known 

RUf;Ff : 

1 2 3 4 5 6
999 999 999 999 999 999

7 7 7 7 7 7
+ + + + +

 
a. 2997  b. 5979  c. 5994  d. 5997 
e.  tpil njhpatpy;iy 
 

61. According to Laplace, sound propagation is an ________ process. 
a. Isothermal  b. Adiabatic c. Isobaric  d. Isochoric 
e. Answer not known 
xypahdJ xU Clfj;jpy; guTk; Kiwapid _________ epfo;T vd 
yhg;y]; fUjpdhh;. 
a. ntg;gepiy khwhj   b. ntg;g ghpkhw;wkpy;yhj 
c. mOj;jk; khwhj   d. gUkd; khwhj 
e.  tpil njhpatpy;iy 
 

62. Consider the following correctly matched: 
I.  National emergency - Article 352 
II.  War emergency  - Article 343 
III.  State emergency  - Article 356 
IV.  Financial emergency - Article 360 
a. I, II and IV b. II, III and IV c. I, II and III d. I, III and IV 
e. Answer not known 
fPo;fz;ltw;wpy; rhpahf nghUe;jpAs;sij fz;lwpf. 
I.  Njrpa neUf;fb epiy - cWg;G 352 
II.  Nghh; neUf;fb epiy - cWg;G 343 
III.  khepy neUf;fb epiy - cWg;G 356 
IV.  epjp neUf;fb epiy - cWg;G 360 
a. I, II kw;Wk; IV  b. II, III kw;Wk; IV   c. I, II kw;Wk; III  
d. I, III kw;Wk; IV  e.  tpil njhpatpy;iy 
 

63. Velocity of electromagnetic waves C is equal to  
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a. 0 0
 

  b. 0 0
   c. 0 0

1

    d. 0 0

1

   
e. Answer not known 
kpd;fhe;j miyfspd; jpirNtfk; C vjw;Fr; rkk; 

a. 0 0
 

  b. 0 0
   c. 0 0

1

    d. 0 0

1

   
e.  tpil njhpatpy;iy 
 

64. When do we celebrate ‘International Human Rights Day’ every year? 
a. 10th September    b. 10th December 
c. 14th November    d. 10th October 
e. Answer not known 
rh;tNjr kdpj chpikfs; jpdk; xt;nthU Mz;Lk; vg;NghJ 
nfhz;lhlg;gLfpwJ? 
a. 10 nrg;lk;gh;    b. 10 brk;gh;  
c. 14 etk;gh;    d. 10 mf;Nlhgh; 
e.  tpil njhpatpy;iy 
 
 

65. What is the capacity of Blu-Ray disc? 
a. 50 GB  b. 4.7 GB  c. 1.5 GB  d. 2 TB 
e. Answer not known 
g;@-Nu rl;bs; nfhs;ssT vd;d? 
a. 50 [pfhigl;    b. 4.7 [pfhigl;  
C. 1.5 [pfhigl;    D. 2 nluhigl; 
e.  tpil njhpatpy;iy 
 

66. Who among the following recommends to the parliament for the abolition 
of the legislative council in a state? 
a. The Legislative assembly of the concerned state 
b. The President of India 
c. The Legislative council of the concerned state. 
d. The Governor of the concerned state 
e. Answer not known 
gpd;tUtdtw;wpy; xU khepyj;jpd; rl;lkd;w Nkyitia xopf;f 
ghuhSkd;wj;jpw;F ghpe;Jiu nra;tJ. 
a. me;j khepyj;jpDila rl;lkd;w Nguit 
b. FbauRj; jiyth; 
c. me;j khepyj;jpd; rl;l Nkyit 
d. me;j khepyj;jpd; MSeh; 
e.  tpil njhpatpy;iy 
 

67. One Kalam is equal to ______ kg. 
a. 27 kg  b. 28 kg  c. 32 kg  d. 72 kg 



 

19 | P a g e  
 

e. Answer not known 
__________ xU fyj;Jf;Fr; rkk; MFk; 
a. 27 fp.fp  b. 28 fp.fp  c. 32 fp.fp  d. 72 fp.fp 
e.  tpil njhpatpy;iy 
 

68. The Supreme Court Judges has been appointed by the President in 
consultation with 
a. The Prime Minister   b. CJI Lead Collegium 
c. The Law Minister   d. The Vice President 
e. Answer not known 
cr;rePjpkd;w ePjpgjpfis FbauRj; jiyth; ahUila MNyhridapd; 
Nghpy; epakpf;fpwhh;? 
a. gpujkh;   
b. jiyik ePjpgjpfs; jiyikapyhd ePjpgjpfs; FO 
c. rl;l mikr;rh;  
d. FbauRj; Jizj; jiyth; 
e.  tpil njhpatpy;iy 
 
 

69. Elements like Silicon and Germanium to be used as a semi conductor is 
purified by _______ method. 
a. Heating under vaccum  b. Zone-refining 
c. Van-Arkel Method   d. Electrolysis 
e. Answer not known 
Fiw flj;jpfshfg; gad;gLk; rpypfd;> n[h;khdpak; Nghd;w jdpkq;fs; 
________ Kiwapy; J}a;ikg;gLj;jg;gLfpd;wd. 
a. ntw;wplj;jpy; ntg;gg;gLj;Jjy; 
b. Gyj; J}a;ikahf;fy; 
c. thd;-Mh;fy; Kiw 
d. kpd;dhw; gFj;jy; 
e.  tpil njhpatpy;iy 
 

70. Under which one of the following Constitution Amendment Act, four 
language are included under eighth schedule of the constitution of India, 
there by the number of official language up to 22? 

(Bodo, Dogri, Maithili, Santhali). 
 a. Constitution Amendment 90 Act – 2003 
 b. Constitution Amendment 91Act – 2003 
 c. Constitution Amendment 92 Act – 2003 
 d. Constitution Amendment 93 Act – 2005 

e. Answer not known 
fPo;fhZk; ve;j ,e;jpa murpay; mikg;G rl;lj;jpUj;jk; vl;lhtJ 
ml;ltizapd; fPo; 4 nkhopfis ,izj;J> mYtyf nkhopfs; 22 Mf 
cau top tFj;jJ? 
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a. 90 tJ murpay; mikg;G rl;lj;jpUj;jk; 2003 
b. 91 tJ murpay; mikg;G rl;lj;jpUj;jk; 2003 
c. 92 tJ murpay; mikg;G rl;lj;jpUj;jk; 2003 
d. 93 tJ murpay; mikg;G rl;lj;jpUj;jk; 2005 
e.  tpil njhpatpy;iy 
 

71. Magnesium hydroxide is used as a medicine for curing 
a. Eyelotion    b. Stomach disorder 
c. To remove stains in clothes d. Head ache 
e. Answer not known 
kf;dPrpak; i`l;uhf;i]L vijf; Fzg;gLj;Jk; kUe;jhf gad;gLfpwJ? 
a. fz; kUe;jhf     b. gapw;W cghijfSf;F 
c. Jzpfspy; cs;s fisfis ePf;f d. jiytyp 
e.  tpil njhpatpy;iy 
 

72. The voting age in general elections was reduced from 21 years to 18 by the 
a. 60th Amendment   b. 61st Amendment 
c. 62nd Amendment   d. 63rd Amendment 
e. Answer not known 
nghJj; Njh;jypy; thf;fspf;Fk; taJ 21 Mz;Lfspy; ,Ue;J 18 Mff; 
Fiwf;fg;gl;lJ? 
a. 60tJ rl;ljpUj;jk;   b. 61tJ rl;ljpUj;jk;   
c. 62tJ rl;ljpUj;jk;   d. 63tJ rl;ljpUj;jk; 
e.  tpil njhpatpy;iy 
 
 

73. Which one of the following mineral is needed large quantity for plants? 
a. Nitrogen  b. Phosphorus c. Calcium  d. Magnesium 
e. Answer not known 
gpd;tUtdtw;Ws; kpf mjpf mstpy; jhtuq;fSf;Fj; Njitg;gLk; jdpkk; 
vJ? 
a. iel;u[d;  b. gh];gu]; c. fhy;rpak;  d. nkf;dPrpak; 
e.  tpil njhpatpy;iy 
 

74. Which Lok Sabha election had the VVPAT was came into existence? 
a. 2014 Lok Sabha election  b. 2015 Lok Sabha election 
c. 2014 Lok Sabha election  d. 2000 Lok Sabha election 
e. Answer not known 
ve;j kf;fs; mit Njh;jypy; thf;F xg;Gif rPl;L Kiw eilKiwf;F 
te;jJ? 
a. 2014 kf;fsit Njh;jy;   b. 2015 kf;fsit Njh;jy; 
c. 2014 kf;fsit Njh;jy;   d. 2000 kf;fsit Njh;jy; 
e.  tpil njhpatpy;iy 

75. Match the following: 
a. Zoophily   1. Vallisneria 
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b. Hydrophily  2. Grass 
c. Entomophily  3. Canna 
d. Anemophily  4. Salvia 

  A B C D 
 a. 4 3 2 1  
 b. 3 2 1 4  
 c. 1 2 3 4  
 d. 3 1 4 2  

e. Answer not known 
fPo;fz;ltw;iw nghUj;Jf: 
a. F/gpyp   1. thyp];Nehpah 
b. i`l;Nuh/gpyp  2. Gy; 
c. vz;lNkh/gpyp  3. fy;thio 
d. mdpNkh/gpyp  4. rhy;tpah 

  A B C D 
 a. 4 3 2 1  
 b. 3 2 1 4  
 c. 1 2 3 4  
 d. 3 1 4 2  

e.  tpil njhpatpy;iy 
 

76. 

3 3

Simplify: 
x y

x y y x
+

− −
 

a. x2 + xy + y2 b. x2 - xy + y2 c. x2 - xy - y2 d. x2 + xy - y2 

e. Answer not known 

; :RUfFf

3 3
x y

x y y x
+

− −
 

a. x2 + xy + y2 b. x2 - xy + y2 c. x2 - xy - y2 d. x2 + xy - y2 
e.  tpil njhpatpy;iy 
 

77. In a distribution, the mean and mode are 66 and 60 respectively.  
Calculate the median 
a. 63  b. 64  c. 66  d. 192 e. Answer not known 
xU gutypd; ruhrhp kw;Wk; KfL KiwNa 66 kw;Wk; 60 MFk; 
,ilepiyasT fhz;f. 
a. 63  b. 64  c. 66  d. 192 e.  tpil njhpatpy;iy 
 

78. There are four 5’s, nine 6’s, six 9’s and five 4’s in the number list. Mode 
is 
a. 5  b. 4  c. 9  d. 6  e. Answer not known 
xU vz; ml;ltizapy; ehd;F 5-fSk;> xd;gJ 6-fSk;> MW 9-fSk;> 
Ie;J 4-fs; cs;sd vdpy; KfL 
a. 5  b. 4  c. 9  d. 6  e.  tpil njhpatpy;iy 
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79. Study the following bar-graph and answer the question given below. 

Production of fertilizers by a company (in 10000 tonnes) over the years. 

   
What was the percentage decline in the production of fertilizers from 1997 
to 1998? 

a. 

1
33 %

3   b. 30%  c. 25%  d. 20% 
e. Answer not known 
fPNo cs;s nrt;tfg;gl;il> tiuglj;ij gad;gLj;jp> Nfl;fg;gLk; 
tpshtpw;F tpilaspf;fTk;. 

xU epWtdj;jpd; cucw;gj;jp (10000 ld;fspy;) Mz;L thhpahf. 

 

1997ypUe;J 1998 Mk; Mz;L cucw;gj;jpapy; Fiwthdjd; rjtPjk; vd;d? 

a. 

1
33 %

3   b. 30%  c. 25%  d. 20% 
e.  tpil njhpatpy;iy 
 

80. The following pie-chart shows the percentage of Literate and Iliterate – 
Males and Female in a city 
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What is the different between the number of literate Males and Literate 
Females? 
a. 75000  b. 1500  c. 5000  d. 500 
e. Answer not known 
fPNo cs;s tl;l tpsf;f tiuglkhdJ xU efuj;jpd; fy;tp mwpT ngw;w 
kw;Wk; ngwhj Mz;fs; kw;Wk; ngz;fis Fwpf;fpwJ. 

 
fy;tpawpT ngw;w Mz;fSf;Fk; fy;tp mwpT ngw;w ngz;fSf;Fk; cs;s 
tpj;jpahrk; vj;jid egh;fs;? 
a. 75000  b. 1500  c. 5000  d. 500 
e.  tpil njhpatpy;iy 
 
 

81. According to Constitutional Act 338 A.  Which commission was setup 
with effect from 19th February 2004? 
a. National Human Rights Commission 
b. National Women’s Commission 
c. National Commission for Scheduled Tribes 
d. National Commission for Backward Caste 
e. Answer not known 
,e;jpa murpayikg;gpd; 338 A tJ tpjpg;gb vt;thizak; 
Njhw;Wtpf;fg;gl;L gpg;uthp 19> 2004 Kjy; eilKiwapy; cs;sJ? 
a. Njrpa kdpj chpikfs; Mizak; 
b. Njrpa kfsph; Mizak;\ 
c. Njrpa goq;Fbapdh; Mizak; 
d. Njrpa gpw;gl;Nlhh; Mizk; 
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e.  tpil njhpatpy;iy 
 

82. The liquid fertilizer which releases about 60 nutrients from which plants 
can benefit is  
a. Ammonium nitrate solution b. Liquid ammonia fertilizer 
c. Liquid nitrogen fertilizer  d. Seaweed liquid fertilizer 

e. Answer not known 
jhtuq;fs; gad;ngWk; 60 Cl;lr; rj;Jf;fisf; nfhLf;fpd;w jput cuk; 
a. mNkhdpak; iel;Nul; fiury; 
b. jput mNkhdpah cuk; 
c. jput iel;u[d; cuk; 
d. jputf; flq;fis cuk; 
e.  tpil njhpatpy;iy 
 

83. The order of following words seen in preamble is 
1. Democratic  2. Socialist  3. Sovereign 
4. Secular   5. Republic 
a. 3, 2, 4, 1, 5 b. 2, 3, 4, 1, 5 c. 3, 2, 1, 4, 5 d. 3, 1, 2, 5, 4 
e. Answer not known 
fPo;f;fhZk; nrhw;fs; Kfg;Giuap; ve;j thpirapy; ,lk; ngw;Ws;sd? 
1. kf;fshl;rp  2. rkjh;kk;  3. ,iwahz;ik 
4. kjrhh;gpd;ik  5. FbauR 
a. 3, 2, 4, 1, 5 b. 2, 3, 4, 1, 5 c. 3, 2, 1, 4, 5 d. 3, 1, 2, 5, 4 
e.  tpil njhpatpy;iy 
 
 

84. The roots that grows vertically downwards from the lateral branches into 
the soil is called as  
a. Epiphytic roots  b. Prop roots 
c. Climbing roots   d. Stilt roots 
e. Answer not known 
gf;ff; fpisfspy; ,Ue;J fPo; Nehf;fp Neuhf tsh;e;J kz;Zf;Fs; nry;Yk; 
Nth;fs; _________ vdg;gLk;. 
a. njhw;W Nth;  b. J}z; Nth; c. gw;W Nth; d. Kl;L Nth; 
e.  tpil njhpatpy;iy 
 

85. Which of the following is the Judiciary for Maharastra and Goa? 
a. Madras High Court  b. Mumbai High Court 
c. Supreme Court of India d. Madurai branch of High Court 
e. Answer not known 
kfhuh~;buh kw;Wk; NfhthTf;fhd nghJthd ePjpkd;wk; 
a. nrd;id cah;ePjpkd;wk; b. Kk;ig cah;ePjpkd;wk; 
c. ,e;jpa cah;ePjpkd;wk; d. cah;ePjpkd;w kJiu fpis 
e.  tpil njhpatpy;iy 
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86. Which is used for synthesis of anthocyanin, lignin and other aromatic 

compounds 
a. Erythrose  b. Sucrose  c. Glucose  d. Fructose 
e. Answer not known 
Me;Njhradpd;> ypf;dpd; kw;Wk; gpw mNuhNkbf; Nrh;kq;fs; cUthf;fj;jpw;F 
gad;gLtJ 
a. vhpj;Nuh];  b. Rf;Nuh];  c. F@f;Nfh]; d. /g;uf;Nlh]; 
e.  tpil njhpatpy;iy 
 

87. Which feature of the Indian constitution stipulates that it shall be the duty 
of every citizen of India to develop the scientific temper, humanism, the 
sprit of inquiry and reform? 
a. Fundamental duties    b. Fundamental rights 
c. Directive principles of state policy d. Preamble 
e. Answer not known 
,e;jpa murpayikg;Gr; rl;lj;jpd; ve;j mk;rk; xt;nthU ,e;jpa 
FbkfidAk; mwptpay; kdg;ghq;F> kdpjNeak;> Ma;e;jwpAk; Ntl;if> 
rPh;jpUj;jk; Mfpatw;iw tsh;j;Jf; nfhs;s Ntz;Lk; vd typAWj;JfpwJ. 
a. mbg;gil flikfs;    
b. mbg;gil chpikfs; 
c. muR nfhs;ifapid newpg;gLj;Jk; Nfhl;ghLfs; 
d. KfTiu 
e.  tpil njhpatpy;iy 
 

88. Which law is used to understand the structure and functions of heart and 
blood vessels? 
a. Chargaffs law     b. Dopler’s law 
c. Hardy Weinberg law  d. Laplace law 
e. Answer not known 
,jak; kw;Wk; ,uj;j ehsq;fs; Mfpatw;wpd; mikg;G kw;Wk; gzpfisg; 
Ghpe;J nfhs;s cjTk; tpjp 
a. rhh;f;fhg; tpjp    b. lhg;sh; tpjp 
c. `hh;b tPd; ngh;f; tpjp  d. yhg;Ns]; tpjp 
e.  tpil njhpatpy;iy 
 

89. Assertion (A) : 73rd Amendment Act brought rural local bodies. 
Reason (R) : Democracy reached grass root level through local 

governments. 
Directions : Given below are two statements labelled as Assertion (A) and 

Reason (R) in the context of two statements, which of the 
following is correct. 

a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
a. (A) is true but (R) is false. 
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b. (A) is false but (R) is true. 
e. Answer not known 
$w;W (A):  
fhuzk; (R):  
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fky;y. 
c. (A) rhp> Mdhy; (R) jtW. 
d. (A) jtW Mdhy; (R) rhp  
e.  tpil njhpatpy;iy 
 

90. The ends of the seminiferous tubules open into an irregular networks, 
which is called, 
a. Albuginea b. Testis c. Spermatic card  d. Rete testis 
e. Answer not known 
tpe;jf Ez; Foy;fs;> xOq;fw;w tiyg;gpd;dy; mikg;ghd ,jDs; 
jpwf;fpd;wd. 
a. my;g+[Pdpah    b. nl];b]; 
c. ];ngh;khbf; ,io   d. nul;nl];b]; 
e.  tpil njhpatpy;iy 
 

91. Lok Adalat was introduced in the year 
a. 1950  b. 1987  c. 1984  d. 2000 
e. Answer not known 
Nyhf;-mjhyj; nfhz;L tug;gl;l Mz;L  
a. 1950  b. 1987  c. 1984  d. 2000 
e.  tpil njhpatpy;iy 
 

92. In Central dogama of Molecular biology 
 

 
 

a. X – Replication, Y – Transcription, Z – Translation 
b. X - Transcription, Y – Translation, Z – Replication 
c. X -  Splicing, Y – Transcription, Z- Translation, 
d. X – Translation, Y – Replication, Z – Splicing 
e. Answer not known 
%yf;$W caphpaypd; mbg;gilf; fUj;jpy; 
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a. X – ,ul;bg;ghjy;> Y – gbnaLj;jy;> Z – nkhopg;ngah;j;jy; 
b. X –  gbnaLj;jy;> Y – nkhopg;ngah;j;jy;> Z – ,ul;bg;ghjy; 
c. X – gpsj;jy;> Y – gbnaLj;jy;> Z – nkhopg;ngah;j;jy; 
d. X – nkhopg;ngah;j;jy;> Y – ,ul;bg;ghjy;> Z – gpsj;jy; 
e.  tpil njhpatpy;iy 
 

93. 28 which organization is exempt the Right to Information Act? 
a. Educational Department  b. Highways Department 
c. Intelligence Bureau   d. Corporation Offices 
e. Answer not known 
28 jfty; mwpAk; chpikr; rl;lj;jpypUe;J tpyf;Fg; ngw;w mikg;G vJ? 
a. fy;tpj; Jiw    b. neLQ;rhiyj; Jiw 
c. csTj;Jiw gzpafk;  d. khefuhl;rp mYtyfq;fs; 
e.  tpil njhpatpy;iy 
 
 

94. State the meaning of Inversion of Temperature 
a. Increasing temperature with increasing height 
b. Decreasing temperature with increasing height 
c. Increasing temperature with decreasing height 
d. Increasing temperature with increasing humidity 
e. Answer not known 
ntg;g jiyfPo; khw;wj;jpw;fhd tpsf;fk; 
a. cauk; mjpfhpf;Fk; NghJ ntg;gKk; mjpfhpf;Fk; 
b. cauk; mjpfhpf;Fk; NghJ ntg;gKk; FiwfpwJ 
c. cauk; FiwAk; NghJ ntg;gKk; mjpfhpf;fpwJ 
d. <ug;gjk; mjpfhpf;Fk; NghJ ntg;gKk; mjpfhpf;fpwJ 
e.  tpil njhpatpy;iy 
 

95. The silk moth begins to produce silk fibre, during this stage of its life cycle 
a. 3rd instar larva  b. 4th instar larva  c. 5th instar larva 
d. Pupa   e. Answer not known 
gl;Lg;g+r;rp mjd; tho;f;if Row;rpapd; ,e;j epiyapy; gl;L ,ioia 
jahhpf;f Jtq;FfpwJ. 
a. 3tJ ,d;];lhh; yhh;th  b. 4tJ ,d;];lhh; yhh;th 
c. 5tJ ,d;];lhh; yhh;th  d. $l;Lg;GO 
e.  tpil njhpatpy;iy 
 
 
 
 
 
 

96. The ages of Rahul and Haroon are in the ratio 5 : 7.  Four years later the 
sum of their ages will be 56 years.  What are their present age? 
a. (15, 21)  b. (20, 28)  C. (25, 35)  D. (24, 32) 
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e. Answer not known 
uhFy; kw;Wk; `&zpd; jw;Nghija taJfspd; tpfpjk; 5 : 7 ehd;F 
Mz;Lfs; fopj;J mth;fspd; taJfspd; $Ljy; 56 tUlq;fs;.  
mth;fspd; jw;Nghija taJ vd;d? 
a. (15, 21)  b. (20, 28)  C. (25, 35)  D. (24, 32) 
e.  tpil njhpatpy;iy 
 

97. The price of an item is increased by 20% and then decreased by 20%.  
Then the final price as compared to original price is 
a. 20% less  b. 20% more c. 4% more  d. 4% less 

e. Answer not known 
xU nghUspd; tpiyahdJ 20% mjpfhpj;J gpd; 20% FiwfpwJ.  Kjy; 
tpiyia xg;gpLk; nghOJ filrp tpiyahdJ. 
a. 20% FiwT b. 20% mjpfk; c. 4% mjpfk; d. 4% FiwT 
e.  tpil njhpatpy;iy 

 
98. There are 560 students in a school.  Out of 560 students, 320 are boys.  

Find the percentage of girls in that school. 
a. 42.86%  b. 40.26%  c. 42.68%  d. 40.32% 
e. Answer not known 
xU gs;spapy; 560 khzth;fs; cs;sdh;.  mjpy; 320 Ngh; rpWth;fs; vdpy;> 
me;jg; gs;spapy; cs;s rpWkpfspd; rjtPjj;ijf; fhz;f. 
a. 42.86%  b. 40.26%  c. 42.68%  d. 40.32% 
e.  tpil njhpatpy;iy 

99. The mean weight of 4 members of a family is 60 kg.  Three of them have 
the weight 56 kg, 68 kg and 72 kg respectively.  Find the weight of the 
fourth member 
a. 40 kg  b. 56 kg  c. 44 kg  d. 68 kg 
e. Answer not known 
xU FLk;gj;jpYs;s 4 egh;fspd; vilfspd; ruhrhp 60 fp.fp. mth;fspy; 
%thpd; vilfs; 56 fp.fp> 68 fp.fp kw;Wk; 72 fp.fp vdpy; ehd;fhkthpd; 
viliaf; fhz;f. 
a. 40 fp.fp>  b. 56 fp.fp>  c. 44 fp.fp>  d. 68 fp.fp> 
e.  tpil njhpatpy;iy 
 

100. The mean of p, q, r, s and t is 28.  The mean of p, r, t is 24. 
Find the mean of q, s 
a. 34  b. 26  c. 22  d. 20  e. Answer not known 
p, q, r, s kw;Wk; t -,d; ruhrhp 28. ,d; ruhrhp 24. vdpy; q, s ,d; ruhrhp 
fhz;f. 
a. 34  b. 26  c. 22  d. 20  e.  tpil njhpatpy;iy 
 

 

 


